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G‹Üisîæ & VýS×ìæ™èl…

Ô>™éË$, Ìê¿¶æ-¯]l-ÚëtË$, yìlÝûP…r$Ï
Ô>™éË$

� Ô>™èl… A…sôæ 100MýS$ A° AÆý‡¦…. ©°² %™ø çÜ*_-Ýë¢Æý‡$.
� 30% A…sôæ 100MýS$ 30 A° AÆý‡¦….
� Ô>™é°² ÝëÐ]l* ]̄lÅ À ]̄l²…V> Ð]l*Æý‡ayé°MìS % VýS$Æý‡$¢ º§ýl$Ë$ 100 àÆý‡…V> Æ>íÜ MýS°çÙt ç³§é-Ë ]̄l$ E…^éÍ.

E§é: 

� ÝëÐ]l* ]̄lÅ À¯é²°² Ô>™èl…V> Ð]l*Æ>a-Ë…sôæ B À¯é²°² 100™ø VýS$×ìæ…_ Ë»ê®°MìS % VýS$Æý‡$¢ ó̂lÆ>aÍ.
E§é: 2/5 À¯é²°² Ô>™èl…V> Ð]l*Æ>a-Ë…sôæ 

� JMýS-Æ>-ÕÌZ ò³Æý‡$-VýS$-§ýlË x % AÆ‡¬™ól B Æ>Õ ò³Ç-W ]̄l ™èlÆ>Ó™èl ÑË$-Ð]l ]̄l$ MýS ]̄l$-MøP-Ð]l-yé-°MìS B Æ>Õ° ™ø
VýS$×ìæ…-^éÍ.
E§é: JMýS Ð]lçÜ$¢Ð]l# «§ýlÆý‡ Æý‡*. 250. §é° «§ýlÆý‡ ]̄l$ 20% ò³…_¯é {ç³çÜ$¢™èl «§ýlÆý‡

Æý‡*. 300

� JMýS Æ>ÕÌZ ™èlVýS$Y-§ýlË x % AÆ‡¬™ól, B Æ>Õ ™èlÆý‡$-VýS$-§ýlË ™èlÆ>Ó™èl ÑË$-Ð]l ]̄l$ MýS ]̄l$-MøP-Ð]l-yé-°MìS B Æ>Õ° ™ø
VýS$×ìæ…-^éÍ.
E§é: JMýS Ð]lÅMìS¢ i™èl… {ç³çÜ$¢™èl… Æý‡*. 10,000. A™èl° i™é°² 25% ™èlWY…-_ ]̄l {ç³çÜ$¢™èl

i™èl…

= Æý‡*. 7,500

¯]lÐ]lÊ¯é {ç³Ô¶æ²Ë$
1. JMýS ™èlÆý‡-VýS-†ÌZ 35 Ð]l$…¨ »êÍ-MýSË$, 15 Ð]l$…¨ »êË$Æý‡$ E¯é²Æý‡$. »êÍ-MýSË Ô>™èl…? »êË$Æý‡ Ô>™èl…?
f. Ððl¬™èl¢… Ñ§éÅ-Æý‡$¦Ë$ = 35 + 15 = 50

»êÍ-MýSË ¿êVýS…-

-»ê-Ë$Æý‡ ¿êVýS…

»êÍ-MýSË Ô>™èl… 

»êË$Æý‡ Ô>™èl… 15
100 30%

50
= × =

35
100 70%

50
= × =

15

50
=

35

50
=

75
10,000

100
= ×

100 25
10,000

100

−= ×

100

100

x−

100 20 120
250 250

100 100

+= × = × =

100

100

x+

2
100 40%

5
× =

25 1 40 2
25% ,40%

100 4 100 5
= = = =
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2. JMýS °Äñæ*-fMýSÐ]lÆý‡Y…-ÌZ° 12,000 Ð]l$…¨ Kr-Æý‡ÏÌZ 60% Ð]l$…¨ Kr$ ÐólÔ>Æý‡$. Kr$ ÐólíÜ ]̄l ÐéÇ çÜ…QÅ?, Kr$
ÐólÄ¶æ$° ÐéÇ çÜ…QÅ?

f. Ððl¬™èl¢… KrÆý‡Ï çÜ…QÅ = 12,000

Kr$ ÐólíÜ ]̄l ÐéÇ çÜ…QÅ = 12,000ÌZ 60%

Kr$ ÐólÄ¶æ$° ÐéÇ çÜ…QÅ = 12,000 – 7,200 = 4,800

➦ Shortcut Method: 60% Ð]l$…¨ Kr$ ÐólÔ>-Æý‡…sôæ 100 Ð]l$…¨MìS 60 Ð]l$…¨ Kr$ ÐólÔ>Æý‡$ A° AÆý‡¦….
100 → 60

(Kr$ ÐólíÜ ]̄l ÐéÆý‡$)
Kr$ ÐólíÜ ]̄l ÐéÆý‡$ 60% AÆ‡¬™ól Kr$ ÐólÄ¶æ$° ÐéÆý‡$ 40%

100 → 40

(Kr$ ÐólÄ¶æ$° ÐéÆý‡$)

3. JMýS çÜ…QÅÌZ 40% 800MìS çÜÐ]l*-̄ ]l-OÐðl$ ]̄l, B çÜ…QÅ G…™èl?
f. çÜ…QÅ x A¯]l$-Mø…yìl

çÜ…QÅÌZ 40% 800MýS$ çÜÐ]l* ]̄l…
A…sôæ x ÌZ 40% = 800

➦ Shortcut Method: çÜ…QÅ '100' A ]̄l$-Mø…yìl. 100ÌZ 40% = 40 → 800 (çÜ-Ð]l$çÜÅ ]̄l$…_)
100 → ?

∴ B çÜ…QÅ 

4. JMýS ™èlÆý‡-VýS-†ÌZ 60% Ð]l$…¨ »êË$Æý‡$, »êÍ-MýSË çÜ…QÅ 80 AÆ‡¬ ]̄l Ððl¬™èl¢… Ñ§éÅ-Æý‡$¦Ë çÜ…QÅ G…™èl?
f. Ððl¬™èl¢… Ñ§éÅ-Æý‡$¦Ë çÜ…QÅ x A¯]l$-Mø…yìl.

™èlÆý‡-VýS-†ÌZ »êË$Æý‡$ 60% M>ºsìæt »êÍ-MýSË$ 40% (100 – 60 = 40)

»êÍ-MýSË çÜ…QÅ = x ÌZ 40% = 80

(çÜ-Ð]l$çÜÅ ]̄l$…_ »êÍMýS çÜ…QÅ)

800
100 2000

40
× =

100
800 2000

40
x = × =

40
800

100
x× =

40
12000 12000 4800

100
→ × =

60
12000 12000 7200

100
→ × =

60
1

100
→

60
12000 7200

100
= × =
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∴ Ððl¬™èl¢… Ñ§éÅ-Æý‡$¦Ë$ = 200

➦ Shortcut Method: »êË$Æý‡$ 60%. M>ºsìæt »êÍ-MýSË$ 40%.

A…sôæ 100MýS$ 40 Ð]l$…¨ »êÍ-MýSË$
40 (»êÍ-MýSË$) → 100 (Ððl¬™èl¢… Ñ§éÅ-Æý‡$¦-Ë$)
80 (»êÍ-MýSË$) → ?

Ððl¬™èl¢… Ñ§éÅ-Æý‡$¦Ë$ 

5. JMýS ç³rt-×æ…-ÌZ° KrÆý‡Ï çÜ…QÅ 5000. C§ýlªÆý‡$ Ð]lÅMýS$¢Ë Ð]l$«§ýlÅ Ksìæ…VŠæ fÇ-W…¨. 20% Kr$Ï ð̂lËÏ-Ìôæ§ýl$. ð̂lÍÏ̄ ]l KrÏÌZ
62% KrÏ̄ ]l$ ´÷…¨ ]̄l Ð]lÅMìS¢ VðSË$-́ ÷…-§éyýl$. Kyìl-́ ù-Æ‡¬ ]̄l Ð]lÅMìS¢MìS, VðSË$-́ ÷…-̈ ]̄l Ð]lÅMìS¢MìS Ð]l$«§ýlÅ KrÏ ™ólyé?

f. Ððl¬™èl¢… KrÆý‡Ï çÜ…QÅ = 5000

ð̂lËÏ° Kr$Ï = 5000ÌZ

ð̂lÍÏ̄ ]l Kr$Ï = 5000 – 1000 = 4000

VðSË$-́ ÷…-̈ ]̄l Ð]lÅMìS¢MìS Ð]l_a ]̄l Kr$Ï = 4000ÌZ 62%

Kyìl ]̄l Ð]lÅMìS¢MìS Ð]l_a ]̄l Kr$Ï = 4000 – 2480 = 1520

C§ýlªÇ Ð]l$«§ýlÅ KrÏ ™ólyé = 2480 – 1520 = 960

➦ Shortcut Method:

VðSË$-́ ÷…-̈ ]̄l Ð]lÅMìS¢ (62%)MìS, Kyìl ]̄l Ð]lÅMìS¢ (38%)MìS KrÏ ™ólyé = 62 – 38 = 24%

100 → 24 (™ólyé) 
4000 → ?

KrÏ ™ólyé

Ìê¿¶æ-¯]l-ÚëtË$, yìlÝûP…r$Ï

çÜ*{™éË$
� AÑ$Ã ]̄l ÐðlË > Mö ]̄l²-ÐðlË AÆ‡¬™ól "Ìê-¿¶æ…' Ð]lçÜ$¢…¨.

Ìê¿¶æ… = A.Ððl – Mö.Ððl
� AÑ$Ã ]̄l ÐðlË < Mö ]̄l²-ÐðlË AÆ‡¬™ól " ]̄l-çÙt…' Ð]lçÜ$¢…¨.

]̄lçÙt… = Mö.Ððl – A.Ððl.

24
× 4000 = 960

100
=

62
= 4000× 2480

100
=

20
20% = 5000× 1000

100
=

100
80 200

40
= × =

100
80× 200

40
x = =

40
80

100
x× =
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� Ìê¿¶æ-Ô>™èl… = Ìê¿¶æ…/Mö.Ððl × 100, ]̄lçÙt Ô>™èl… = ]̄lçÙt…/Mö.Ððl. × 100

� Mö ]̄l²-ÐðlË c AÑ$Ã ]̄l ÐðlË s Ìê¿¶æ-Ô>™èl… g% AÆ‡¬¯é

Ìôæ§é 

� Mö ]̄l²-ÐðlË c, AÑ$Ã ]̄l ÐðlË s... ]̄lçÙt-Ô>™èl… l % AÆ‡¬ ]̄l 

Ìôæ§é 

� {ç³MýS-r ]̄l ÐðlË m. Æý‡$çÜ$Ð]l¬ (yìl-ÝûP…-sŒæ) Ô>™èl… d% AÆ‡¬ ]̄ll yìlÝûP…sŒæ ÑË$Ð]l 
� AÐ]l$Ã-MýSç³# ÐðlË = {ç³MýS-r ]̄l ÐðlË & Æý‡$çÜ$…

¯]lÐ]lÊ¯é {ç³Ô¶æ²Ë$
1. Ððl…MýS ]̄l² 50 yýlf ]̄lÏ AÆý‡sìæ ç³…yýlÏ̄ ]l$ Æý‡*. 1250MìS Mö¯é²yýl$. A™èl ]̄l$ Æý‡Ðé×êMýS$ Æý‡*. 250 QÆý‡$a ó̂lÔ>yýl$. 5 yýlf¯]lÏ

AÆý‡sìæ çç³…yýl$Ï MýS$ãḮ ùÐ]lyýl… Ð]lËÏ Ðésìæ° AÐ]l$Ã-Ìôæ-MýS-́ ù-Ä¶æ*yýl$. Ñ$W-Í ]̄l AÆý‡sìæç³…yýlÏ̄ ]l$ yýlf ]̄l$ Æý‡*. 35-ËMýS$ AÑ$Ã¯é
A™èl-°MìS Ìê¿¶æÐ]l*? ]̄lçÙtÐ]l*? G…™èl-Ô>™èl…?

f. Mö ]̄l²-ÐðlË = Æý‡*.1250 + Æý‡*.250

= Æý‡*.1500

5 yýlf ]̄l$Ï MýS$ãḮ ùV>, Ñ$W-Í ]̄l 45 yýlf ]̄l$Ï yýlf ]̄l$ Æý‡*. 35MýS$ AÑ$Ã ]̄l 
AÑ$Ã ]̄l ÐðlË = 45 × 35 = Æý‡*.1575,

Ìê¿¶æ… = 1575 – 1500 = Æý‡*.75

Ìê¿¶æ-Ô>™èl… 

2. JMýS Ð]lÅMìS¢ VýSyìl-Ä¶æ*-Æ>°² Æý‡*. 1980MìS AÐ]l$ÃV> 10% Ìê¿¶æ… Ð]lõÜ¢ Mö ]̄l²-ÐðlË G…™èl?
f. VýSyìl-Ä¶æ*Æý‡… AÑ$Ã ]̄l ÐðlË c = Æý‡*.1980

Ìê¿¶æ-Ô>™èl… g% = 10%

Mö ]̄l²-ÐðlË 

= Æý‡*. 1800

➦ Shortcut Method:

Mö ]̄l²-ÐðlË = Æý‡*. 100 A¯]l$-Mø…yìl
10% Ìê¿¶æ… Ð]l_a…¨ M>ºsìæt AÑ$Ã ]̄l ÐðlË = Æý‡*. 110 (A.Ððl = Mö.Ððl + -Ìê-¿¶æ…)
110 → 1980 (çÜ-Ð]l$çÜÅ ]̄l$…_)
Mö ]̄l²-ÐðlË 100 → ?

∴ Mö¯]l²-ÐðlË = Æý‡*.1800
1980

100
110

= ×

100 100
c s 1980

100 g 100 10
= × = ×

+ +

75
100 5%

1500
= × =

md (100 d)
m m

100 100

−− =

md

100

100
c s

100 l
= ×

−
100

s c
100

l−= ×

100
c s

100 g
= ×

+
100 g

s c
100

+= ×
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3. Ð]l*ÍMŠæ Æð‡…yýl$ sôæº$-â¶æÏ̄ ]l$ JMöP-MýSPsìæ Æý‡*. 3000ËMýS$ AÐ]l*Ãyýl$. JMýS sôæº$-ÌŒæOò³ 20% Ìê¿¶æ…, Ð]l$ÆöMýS §é°Oò³ 20%

]̄lçÙt… Ð]lõÜ¢ Ððl¬™èl¢… Ò$§ýl A™èl-°MìS Ìê¿¶æÐ]l*? ]̄lçÙtÐ]l*? G…™èl Ô>™èl…?
f. Shortcut Method: JMýS Ð]lÅMìS¢ Æð‡…yýl$ Ð]lçÜ$¢-Ð]l#-Ë ]̄l$ JMöP-MýSPsìæ JMóSS Æó‡r$MýS$ AÐ]l$ÃV>, JMýS Ð]lçÜ$¢-Ð]l#Oò³ x% Ìê¿¶æ…,

Ð]l$ÆöMýS §é°Oò³ x% ]̄lçÙt… Ð]l_a ]̄l Ððl¬™èl¢… Ò$§ýl A™èl-°MìS GËÏ-ç³#μyýl* ]̄lçÙtÐól$ Ð]lçÜ$¢…¨. 

]̄lçÙt-Ô>™èl… 

C_a ]̄l çÜÐ]l$çÜÅ ]̄l$…_ -̄ ]lçÙt Ô>™èl… 

4. 12 Ð]lçÜ$¢-Ð]l#Ë AÑ$Ã ]̄l ÐðlË, 15 Ð]lçÜ$¢-Ð]l#Ë Mö ]̄l²-Ððl-ËMýS$ çÜÐ]l*-̄ ]l-OÐðl$ ]̄l Ìê¿¶æÐ]l*? ]̄lçÙtÐ]l*? G…™èl Ô>™èl…?
f. JMýS Ð]lçÜ$¢Ð]l# Mö ]̄l²-ÐðlË = Æý‡*.1 A¯]l$-Mø…yìl

12 Ð]lçÜ$¢-Ð]l#Ë$ Mö ]̄l²-ÐðlË = Æý‡*.12

12 Ð]lçÜ$¢-Ð]l#Ë$ AÑ$Ã ]̄l ÐðlË = 15 Ð]lçÜ$¢-Ð]l#Ë Mö ]̄l²-ÐðlË (çÜ-Ð]l$çÜÅ ]̄l$…_) = Æý‡*.15

12 Ð]lçÜ$¢-Ð]l#Ë Ò$§ýl ÌñæMìSPõÜ¢ Ìê¿¶æ… = 15–12 = Æý‡*.3

Ìê¿¶æ-Ô>™èl… 

➦ Shortcut Method:

Ìê¿¶æ… Ìôæ§é ]̄lçÙt-Ô>™èl… = Mö ]̄l², AÑ$Ã ]̄l Ð]lçÜ$¢-Ð]l#Ë ™ólyé-/-A-Ñ$Ã ]̄l Ð]lçÜ$¢-Ð]l#Ë$ × 100

5. Æý‡*. 10- ËMýS$ 11 ç³#çÜ¢-M>Ë$ Mö ]̄l$-VøË$ ó̂líÜ, Æý‡*.11 ËMýS$ 10 ç³#çÜ¢-M>Ë$ Ñ{MýS-Æ‡¬õÜ¢ Ìê¿¶æ-Ô>™èl…?
f. 11, 10Ë MýS.Ýë.VýS$. = 11 × 10 = 110

110 ç³#çÜ¢-M>Ë$ Mö ]̄l²-Ððl-Ë = 11 ç³#çÜ¢-M>Ë$ × 10 = Æý‡*. 10 × 10 = Æý‡*. 100

110 ç³#çÜ¢-M>Ë$ AÑ$Ã ]̄lÐðlË = 10 ç³#çÜ¢M>Ë$ × 11 = 11 × 11 = Æý‡*.121
110 ç³#çÜ¢-M>Ë Ò$§ýl Ìê¿¶æ… = 121 – 100 = 21

Ìê¿¶æ-Ô>™èl… 

Æð‡…yø ç³§ýl®-†:

Æý‡*.10ËMýS$ 11ç³#çÜ¢-M>Ë$ Mö ]̄l$-VøË$ ó̂lõÜ¢ 1 ç³#çÜ¢MýS… Mö.Ððl. = Æý‡*. 10/11
Æý‡*. 11ËMýS$ ç³#çÜ¢-M>-Ë$ AÑ$Ã™ól 1ç³#çÜ¢MýS… A.Ððl 11/10

Ìê¿¶æ… (A…sôæ A.Ððl > Mö.Ððl)

Ìê¿¶æ-Ô>™èl… = Ìê¿¶æ…-/Mö.Ððl × 100

11 10

10 11
⎛ ⎞∴ >⎜ ⎟⎝ ⎠

11 10

10 11
−

21
100 21%

100
= × =

15 12
100 25%

12

−= × =

3
100 25%

12
= × =

2
20

4%
10

⎛ ⎞= =⎜ ⎟⎝ ⎠

2

10

x⎛ ⎞= ⎜ ⎟⎝ ⎠
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6. JMýS ç³#çÜ¢MýS… {ç³MýS-r ]̄l ÐðlË Æý‡*.250 {ç³ è̂l$-Æý‡×æ MýSÆý‡¢ 10% Æý‡$çÜ$…(yìl-ÝûP…-sŒæ-) ]̄l$ CõÜ¢ ç³#çÜ¢MýS… AÐ]l$Ã-MýSç³# ÐðlË G…™èl?

f. AÐ]l$Ã-MýSç³# ÐðlË 

m – {ç³MýS-r ]̄l ÐðlË, d – yìlÝûP…sŒæ

= Æý‡*.225

➦ Shortcut Method: {ç³MýS-r ]̄l ÐðlË 100 A ]̄l$-Mø…yìl. yìlÝûP…sŒæ 10% ´ù™ól AÐ]l$Ã-MýSç³# ÐðlË = 90

100 → 250 (çÜÐ]l$çÜÅ ]̄l$…_)
90 → ?

∴ AÐ]l$Ã-MýSç³# ÐðlË = Æý‡*.225

7. JMýS yîlËÆŠæ ™èl ]̄l Ð]lçÜ$¢-Ð]l#Ë {ç³MýS-r ]̄l ÐðlËOò³ 10% ™èlWY…-ç³#-°_a MýS*yé 10% Ìê¿¶æ… ´÷…§ýl-VýS-Ëyýl$. JMýS Ð]lçÜ$¢ Ð]l# Mö ]̄l²-
ÐðlË Æý‡*.900 AÆ‡¬ ]̄l §é° {ç³MýS-r ]̄l ÐðlË G…™èl?

f. Ð]lçÜ$¢Ð]l# Mö ]̄l² ÐðlË c = 900, Ìê¿¶æ-Ô>™èl… g% = 10%, ¯]l$…_

Ð]lçÜ$¢Ð]l# AÐ]l$Ã-MýSç³# ÐðlË = Æý‡*. 990

yìlÝûP…sŒæ d% = 10%, {ç³MýS-r ]̄l ÐðlË 'm' A¯]l$MýS$…sôæ

AÐ]l$Ã-MýSç³# ÐðlË 

çÜ*{™èl… ]̄l$…_ 

Æý‡*. 1100

∴ Ð]lçÜ$¢Ð]l# {ç³MýS-r ]̄l ÐðlË = Æý‡*. 1100

8. JMýS Ð]lçÜ$¢Ð]l# {ç³MýS-sìæ™èl ÐðlË Æý‡*. 160 §é°Oò³ 20%, 10% A ó̄l Æð‡…yýl$ Ð]lÆý‡$çÜ yìlÝûP…-sŒæ-Ë ]̄l$ CõÜ¢ ð̂lÍÏ…-̂ é-ÍÞ ]̄l
Ððl¬™èl¢… G…™èl?

f. ð̂lÍÏ…-̂ é-ÍÞ ]̄l Ððl¬¢™èl… = Æý‡*. 115.20 Oò³100 20 100 10
160

100 100

− −⎛ ⎞⎛ ⎞= ⎜ ⎟⎜ ⎟⎝ ⎠⎝ ⎠

100
m 990

90
= × =

m(100 10)
990

100

−=

m(100 d)

100

−=

100 10
900

100

+= ×

100 g
s c

100

+= ×

250
90

100
= ×

(100 10)
250

100

−=

m(100 d)

100

−=

11 10
121 100 1110 11 100 100 21%

10 110 10
11

= −= × = × × =
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